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Cluster: 0183 ptr; resid: 0.27; r/c: 30/82

x.range

upstream meme PSSM #1; e=2.9

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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upstream meme PSSM #2; e=4.4

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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10239
14600

10247

14103

14843

21228

28797

33360

37848

3851

39098

39269

39288

39968

44951
45460

46950

47323
47495

47724

47990
48483

48971

49878

50141

50220

50589

50605

52444

54892

string −500 −400 −300 −200 −100 −1
37848−0.01

3851−0.04
10247−0.14
39098−0.14
14103−0.16
50220−0.19
21228−0.20
39288−0.27
48483−0.42
47495−0.57
48971−0.58
39968−0.71
47724−0.74
47323−0.75
47990−1.01
14600−1.10
10239−1.85
50605−1.99
28797−2.04
49878−2.15
54892−2.51
33360−2.62
52444−2.67
50141−2.85
39269−4.96
14843−5.63
45460−5.89
44951−9.04
50589−12.91
46950−13.90

log10(P) upstream meme1 2 log10(P.clust)=−2.60; 30 seqs; 30 uniq
c(0.5, 2.5)
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